MODBUS #2731 i 45

LR TR BRI
ART Technology Development Co.,Ltd.
A BRI R Dh RS A FE:
UiReRd: 01
i ihihl: 00001~00002
YL : R gk FE AR IR
AR A
Huhl Eiiipa L]
. e A L =1 =0 {kHE
00001 55 01 B IT oG IR (X DAM-3504 3
. e A L =1 T =0 {kHE
00002 55 02 B IT G IR (X DAM-3504 3
MODBUS ik
Difiehd 1 BYTE 0x01
itk 2 BYTE 0x0000 TO 0XxFFFF
e 2BYTE 1 TO 2000(0x7D0)
MODBUS i\
Difiehd 1 BYTE 0x01
T 1 BYTE N
R n BYTE n =N or N+l
N =R WRREAN 0 W N=N+1
ik WM
i geht 1 BYTE 0x01+ 0x80
H iz 1 BYTE 0x1 or 0x2
25451
iR M) ]
b gl %5 (hex) b bt s (hex)
Difiehd 01 hfiehd 01
EC U HbE R (1) 00 FATH 03
E U HBEEG (1) 01 01 (h) ~02 k% 03
TR = () 00
BEUERAR T 02




BEIFRERA

Dhhed: 02

At dbHibl: 10001~10016
VO SRR N T B RS

AR A
- ik L2
=0 AT =1 B HYs
) =N />|~ ) “i‘l—%
10001 501 BT SRR {7 DAM-3504 3 5

MODBUS &3k

i geht 1 BYTE 0x02
L af kit 2 BYTE 0x0000 TO OXFFFF
B2l e 2BYTE 1 TO 2000(0x7D0)
MODBUS i\
Difiehd 1 BYTE 0x02
T 1 BYTE N
HIIRES n BYTE n =N or N+1
N=3HUER  WHRREAN 0 W N=N+1
R WY
Difiehd 1 BYTE 0x02+ 0x80
H i 1 BYTE 0x1 or 0x2
25451
iR M) ]
PR b T HHs (hex) PR b HHs (hex)
i geht 02 iRens 02
A af bk = () 00 FATH 03
E U HBHEG (1) 01 1R 01
e = () 00
BEUERAR ) 01
BLARIF AT RS

DhfEld: 03H

Bk Hdk: 40001~40408
VL SEHURFE A A7 AR I

B U SRR TN AR S A

Huhk(+ ) Eitipa Ui ]

40129 BRI 27 (7 2% . 3503 (HEX)

40130 B S A7 Ui: 4244 (HEX) -‘BD’( ASCII)
40131 Fi MODBUS Bl FriR ‘+': 2B20(HEX)-ASCII
40132 BEIA 5 . 0621 (HEX)

40133 B wi: 01




40134 L R R fm: 03-9600bit/s

& M

40257 s R 0~65535

40258 SEN/ThEw 0~65535

40259 Ha LT RS BE LSB 6 Y 1) S B L i, H
FE BT 6F Y 0.0001%10° F11#) n, SEBR
Ho P A = WA B 1%0.0001 %107, 451 41 -
AT T 500,  H R ALARRY

1, S B e B = 500*0.0001*10!

TR

40265 H A MY

40266 5 B AHHEAE

40267 5 C AHHE(E

&

MODBUS &3k

Thre

1 BYTE

0x03

G

2 BYTE

0x0000 TO OxFFFF

R

2 BYTE

1 TO 125(0x7D)

MODBUS MLy

Thae

1 BYTE

0x03

TR

1 BYTE

N*2

EIAN NS

N*2 BYTE

BRI

Thae

1 BYTE

0x03+ 0x80

HHRAY

1 BYTE

0x1 or 0x2

hl. RABRRPArE

ok

Mg [3

LESiN

01 Chex)

R

01 Chex)

Thre

03

Thnerd

03

AN R ()

00

T

02

AR 1Y)

85

DREFA7 A7 45

00

BECSCR R (1Y)

00

DREFAF A7 211K

06

PR AR )

01

E2N YR

ThfEld:. 04H

AL dsHiak: 30001~30008
PiH: R N E

BAE B B TN AT £ A

Huht $Hik ]

30001 A AR BUE

0 ~ Imax




30002 B A A RUE [F] b, Fp ) ARG Ak
30003 C FHHLILA UE [F] b, B ARG Ak
30004 A AR A 0 ~ Vmax
30005 B A LA R [T SR T YR =g A
30006 C M AR [F] b, S AR TE Ak
N
30013 AHEIIIThZER -Imax* Vmax ~ +Imax* Vmax
30014 B M Th I [ b, ) AR R TG 2
30015 CHIE DY [F] b, Fp ) ARG Ak
30016 AT IhZR -Imax* Vmax ~ +Imax* Vmax
30017 B MIC Y Yy [F) b, Fp ) ARG Ak
30018 C MY Py [F) b, Fp ) ARG Ak
30019 A FHPAETh = -Imax* Vmax ~ +Imax* Vmax
30020 B AHRLAE Dy % [F) b, Fp ) ARG Ak
30021 C HLAE D2 [F] b, Sl AR TE Ak
e
30031 A AHIEARA ) s BEAR 2147483648~ +2147483647
30032 A AMHIEARA DB & AR, 32 MRS K AR
30033 B AH IEAHA Dy B AR L e e
30034 B A IEANAE Th L o RLE, 2 FARRRER
30035 C HHIEAA 2 HL AR ~ S L
30036 C AHIEAAT DL FLE, 3 RARERREN
Nl
30043 A AHIEARTE ) HLBEAR 2147483648~ +2147483647
FAAHIN BN SCRE
30044 A A IEAR T U BE AR, 32 MRS K AR
30045 B AH IEAHC ) B AR L e e
30046 B AHIEAHTC I LS RLE, 2 FARRRERN
30047 C HHIEATJCT) HLEAIR ~ S L
30048 C AHIEAH TG D L E 1y FLE, FRARERREN
Nl
30055 A FHRRAE HLREAR 2147483648~ +2147483647
—AHI E AR A S Hy
30056 A AR HLRE A, 32 MRS KEIE
30057 B HIALAE HUEAI L et e
20058 B AT ] L, B g AR TE A
30059 C HHALAE LA L e
30060 AT 51 R O R T M == 8515
N
30067 A I Z R -1 ~+1
30068 B AHIZh % R [T SR TR =g A
30069 C AH I 2 IR [F] b, Fp ) I ARG Ak

TR




30073 A FE 5 AR 0~ 65HZ
B[ U AR RN S
30074 B AHF ‘5 AL [F) b, B g ARG 3%
30075 C MAE S IRAK [F] b, SR E Ak
B
30129 IREEI 40 ~ +120 (B4 i T REH SCR)
30130 BT 0 ~+100 (B4 5 i T RIS HF)
N
MODBUS ik
Igehs 1 BYTE 0x04
itk 2 BYTE 0x0000 TO OXFFFF
T 2 BYTE 1 TO 125(0x7D)
MODBUS i\
Igehs 1 BYTE 0x04
T 1 BYTE N*2
W ANIRZS N*2 BYTE
280 R E—BEHEMAE
Tk M) ]
PR i - 01 Chex) PR H - e (hex)
i geht 04 iRens 04
E L = (1Y) 01 T 04
LR H AR (1Y) 01 BRI ARG 16 80
PL IR
BB = () 00 BRI ARG 16 00
PR T
BEUERAR ) 02 BN 16 00
PL IR
BB 16 00
PR T
wE RN

Dhfeid: 05

MODBUS &3k

Dhgehd 1 BYTE 0x05
P E Hu ik 2 BYTE 0x0000 TO 0xFFFF
WENE 2BYTE 0x0000 OR 0xFF00

0x0000 FEJ 4k 1 2%
0xff00 M A4k H s

MODBUS i

Dyfeht 1 BYTE 0x05

W Hhik 2 BYTE 0x0000 TO OxFFFF

BEE N E 2 BYTE 0x0000 OR 0xFF00




e A

Difiehd 1 BYTE 0x05+ 0x80
RS 1 BYTE 0x1 or 0x2

28451

IR M) J&;

R b T HHs (hex) PR b HHx (hex)
i geht 05 iRens 05

T R R () 00 R HBYE = () 00
VA L HAR (1Y) 05 B () 05
BEE 2 (F1) FF W A (1) FF
W N AR 00 B N AR 00
BEL R

DiRefd: OF

MODBUS %k

i geht 1 BYTE 0xOF

WE IR R 2 BYTE 0x0000 TO OXFFFF
WEKE 2 BYTE 0x0000 TO 0x7B0
T 1 BYTE N

WEHNE N BYTE

MODBUS i\

Difiehd 1 BYTE 0xOF

R G R 2BYTE 0x0000 TO OxFFFF
WEKA 2BYTE 0x0000 TO 0x7B0
R WY

Difiehd 1 BYTE 0x0F+ 0x80

H i 1 BYTE 0x1 or 0x2

25451

iR M) J&;

PR i - 5 (hex) PR H - s (hex)
i geht OF iRens OF

T R R () 00 BCE LR () 00

B IR 13 W EHL () 13

WE AR S () 00 BB AR R () 00
WEHERARCT) 0A WEERARCT) 0A
T 02

W A (T CD

WE N AR 01

WEBRMRIF T

DhfEld: 06H




MODBUS &3k

Igehs 1 BYTE 0x06

TEE b 2BYTE 0x0000 TO OxFFFF
WENA 2BYTE 0x0000to  OXFFFF
MODBUS Fij

i geht 1 BYTE 0x06

W E Mk 2BYTE 0x0000 TO OXxFFFF
WENE 2BYTE 0x0000 to OXFFFF
284 W EBLHPARFEE R 19200bit/S

Wk M) J&;

PR b 01 Chex) B 01 Chex)
Difiehd 06 hfiehd 06
TE bk = () 00 TE b S () 00

W E (AT 85 W E R () 85
BEE 2 (F) 00 W A (F1) 00

W BT 07 W N AR 07
WE L MRIF T

Thhefd: 10H

MODBUS ik

Igehs 1 BYTE 0x10

R A R 2BYTE 0x0000 TO OxFFFF
WEKA 2BYTE 0x0000 TO 0x7B0
T 1 BYTE N*2

W N N*2 BYTE

MODBUS Fi

i geht 1 BYTE 0x10

WE IR R 2 BYTE 0x0000 TO OXxFFFF
WEKE 2 BYTE 0x0000 TO 0x7B0
284 BB R 19200bit/S

iR M) ]

PR i - 01 Chex) PR - 01 Chex)
Difiehd 10 hfiehd 10
TE k= () 00 TE b S () 00

W E R 85 W E MR () 85
WE R () 00 BB R R () 00
WEHERARCT) 01 BB AR 01
T 02

WE N AT 00
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